





H(m)
(m)
W(m)






1 104 104| 10
2 13 26 39| 4
5 0 33 33| 3

13 1 1 17| 19| 2
3 38 38| 4
4 49 s s
6 33 33| 3
7 39 39| 4
8 78 78] 8
9 3 18] 21| 2

1 29| 20| 3

10 24| 24| 2

12 | 12| 2

118 300 100| 518| 52

76 82| 8
6

200 300 100 600| 60
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1979 24 .0
2,290mm 12.4m 2.2
-1
( ) 31 130 51.8
1979 2002
1
mm mm mm m/s m/s
2289.3 | 189.4 | 44.8 17.0 34.4 -54 2.2 12.4 1960.7
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52 3 29 23
16 15
14
12
10
10 9 — 9
8
6
4
4 3
2
2
o [
0 1 1 1 1 1 1 1 1
1 1 1515 2 2 2.52.5 3 3 3.5 3.5 4 4
14 13
] 12
12 —
10
10 9 ]
8
6
4
4 3
0
0 L . . . . . .

1 1 1515 2 2 2,525 33 35 3.5 4 4
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2002 1 4
15cm
1612mm
( )
33 34.9 130 22.5
1961 42
0
m/s m/s m/s mm mm mm mm cm cm
16.5 35.5 -2.2 2.9 16.4 30.0 [1930.4(1612.6( 122.8 | 41.7 15.6 6.6 4.4
2.9 m/s
IC
2003 2 1
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4.2m
20-30cm
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